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What is Accounting Standards? Why are the accounting standards necessary? Mention any
five International Accounting Standards.
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Is it necessary to make difference between capital expenditure and revenue expenditure in
trade? If this difference is not done, what shall be the effect on final accounts? Explain with

examples.
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From the following trial Balance of Shri Dubey. Prepare his final Accounts for the year ended

31% march 2020.

faw. 219 (Dr. Balance) fer 1. 9w (Cr. Balance) NIE
(Amount) (Amount)

Fg |arErfora (Purchases Adjusted) 6,89,200 | gsit (Capital) 48,500
ga4 (salaries) 11,900 | fa@= (sales) 7,40,000
erret (Carriage) 900 | geer (Discount) 900
A e (General Expenses) 900 | srqwqara (Unpaid expenses) 700
wa= (Building) 30,000 | fafeer =iar (sundry creditors) 21,200
=R (Furniture) 6,000
ydeed = (Prepaid Expenses) 200
fafder er (Sundry Debtors) 8,000
g 8@ (Depreciation):
wa (Building) 600
weraR(Furniture) 600 1200
re(Cash) 1750
3ifem wrer(Closing Stock) 56,250
ISEUEIESER RIS 5,000
(Tiwaries Suspense A/c)

8,11,300 8,11,300
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Tiwari’s suspenses account represent cash sent to Tiwari for a joint Ventures. Tiwari has sent
intimation that venture has resulted in a profit of Rs. 4,000 of which Dubeys share is Rs.
1,000 this remains to be adjusted in books.
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“There are certain errors which cannot be disclosed by Trial Balance.” Discuss the statement.
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What is receipts and payments accounts? Explain the steps needed to prepare an Income and
Expenditure Account from Receipts and payments Account.
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A machine was purchase on 1% April 2009 amounting to Rs.1,92000. The
depreciation is charged at the rate of 15% p.a. by Diminishing balance method.

On 1° April, 2012 it was decided to change the method and rate of depreciation to
10% on straight line method with retrospective effect from 1% April 2009. The difference in
depreciation to be adjusted in the machinery Account onlst April, 2012 and prepare the
machinery account for the year 2012-13.
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Mention the Journal entries in the books of the buyer as well as the seller when goods are
sold on the Hire purchase system?
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On 1% April 2010 Vinay purchased a machine on instalment payment system from Raipur
Ltd. Cash Price of machine is Rs. 3,35,250. Rs. 90000 is paid at the time of purchase and
balance is to be paid in three equal annual instalment of Rs. 90,000 each. Each instalment
includes interest on outstanding balance . Calculate interest included in each instalment and
show Raipur Limited’s Account in the books of Vinay.
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Write a short not on any four of the following -

1) ARIGR! Held & M@ § N 84 drel =M Rules which apply in the absence of a
partnership deed.

2) AEeR @ Rer yd gRad-eiiel goil Fixed and Fluctuating capital of partners

3) %H @ faged @1 gRRfei Circumstances for dissolution of the firm

4)  ®H ¥ YUd BM dlel AEIGR & YIdM @1 fIf™dT| Methods payments to an

outgoing partner
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Krishna and Sudama are partners in a firm. They shared profits and losses in the ratio of 3:2.
As on 31* March , 2013, their Balance Sheet was an follows:

afea (Liabilities) TR Frfeqai (Assets) <t (Amount)
(Amount)
oer (Creditors) 528 | Jras (cash) 363
a3 (Reserve) 500 | faffrarT (investors) 2080
aferery or (Bank loan) 1,000 | g=er (debtors) 1960
goft (Capital) 5y (stock) 875
weter (furnitures) 250
gwi(Krishna) 6000 T wHufcd (house property) 4500
gemr(Sudama) 2000 8000
10,028 10,028
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On that date, they dissolved their firm and they sold their all assets except investments for Rs.
6,900 . Sudama has taken investments for Rs. 2,200 and he was agreed to pay the bank loan.
Realisation expenses were Rs. 110 and Rs. 503 paid to creditors full and final payment.

Give necessary journal entries and ledger accounts on dissolution.
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